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5-2  BUMEE - SHIFAE (U — NER{E)
TP - KBS - Bkl Dn-7-F" =b 2740 7 =b, RS -h (27 MERR<) WA - AR MK 2 f§ (1f47-=9)
‘ TR (X ) S . 1924 72 0 A FHIEAE (aX n +b) n= o
ERIH AT iR | R | BEA | BB | BEiC | BB a b 2.00
1 BHhpkA 1 ! 0. 55 0. 55 0. 55 0.10 0.90 1.10
2 w2
2-1 B2 1 | 0.55 0.55 0.10 0. 90 1.10
K 0.55 1. 10 1. 10
X2 DHPAEE DY, BBV L OED - FBOFHO S — MREE R LT 5,
5-5  BERERMr (F— ki)
TP - KBS - Bkl on-7-F" =b 2740 =b, RS -h (27 MERR<) HEREZ I MK 2 (1f47-=9)
‘ TR (X ) S . 1924 72 0 A FHIEAE (aX n +b) n= o
ERIH LT iR | S | BEA | BB | mEiC | BaRE a b 2.00
1 FRTHE 1 | 1.65 0.10 0. 90 1.10
2 w2
2-1 FERERZMIREAML (f 4 R AT 1 | 0.22 0. 66 0.55 0.10 0. 90 1.10
3 FEMR M !
3-1 FERERZWIREAML (ft 4 RAM) M 0.10 0.90 1.10
4 HBREIR AR Ot
-1 PEREMR T T 1 e 0.11 0.33 0. 44 0. 44 0. 44 0.10 0.90 1.10
4-2 FEREPR A% R O FET 1 | 0.22 0.55 0.77 0.77 0. 66 0.10 0.90 1. 10
4-3 KW FEME TV A OVERL 1 | 0.33 0.99 1.10 0.99 0.10 0. 90 1.10
4-4 BEREMR A X R ORE 1 | 0. 33 1.32 1.32 1. 10 0.10 0.90 1. 10
4-5 BERECRAFHE DR E 1 | 0. 44 .21 0.99 0.10 0. 90 1.10
5 JREEKFIAbIEERT ) DIERL 1 ! 0. 22 0.22 0.10 0. 90 1.10
6 FAA 1 ! 0. 44 0. 44 0.10 0.90 1.10
T R L 1 fq 0. 44 0. 44 0. 66 0.10 0. 90 1. 10
=X 2.53 7.59 5.39 4.18 1.10

%2 PHPHSEE Y, EBROED) - FEISH O — FRilizx5R LT 2,




